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SECOND MID TERM TEST 2024
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SENT 'Answer all the questions. . R A . 8x 1=8
5 X vChoose the correct answer from the glven four alternatlves
1. "The number of pomts of |ntersect|on of the quadratlc polynomlal X2+ 4x + 4
‘with the x ax1s is RN PRt A 3 %) il
~a)o \ I T A R 'c).o (or) 1 d)2
' 2. Transpose of a column matrix is FONG L BT I '
A a) unit matrix © ‘' b) dlagonal matrlx c) column matrlx d) row matrix
3. Atangentis. perpendlcular to the radlus atthe i ..oyl  Nak ‘
" a) centre b) poinit to contact: ) lnﬁnlty . d) chord
4. Thetwo tangent from an- external pomts P.to a CIrcle with centre at O are
"PA and PB. If LAPB = 70° then the value of 4AOB s’ o
a) 110° " % 'b) 1000 . * ) 1209 Y\ . d) 1300 -
¥, 5. If the ratio of the helght of a tower and the length of its shadow is \/_ F,
' then the angle of elevatlon of the: sun has measure

a) 45° . b)30° . c)90° . d)60°
6.  The height of a rlght cnrcular cone whose rad|us is 5cm and slant height is
~y © 13cm will be i .
“a)1l2cm b) 10 cm Y { VW) 13 cm. i g d) 5 ¢ém

7. The curved surface area of a rlght C|rcular cone of height 15cm and base :
diameter 16cmis, Wi RN RN D |
a) 60n cm?  b) 681 cm2 c) 120n cam? d) 1367 cm?
) '8. If the radius of the base of a cone |s trlpled and the helght is doubled then
~ the volumeis. =~

' a) made 6 tlmes b) made 18 t|mes c) made 12 tlmes d) unchanged

' :L"5;[_1' A Answer any 6 questlons. Questlon No. 16 is compulsory 6 x 2 =12

iRy : f \ A \ “ & T

IS -'3‘
B NG g G
v “-.9'_j/w\_IfA = | then find the transpose of - A. . = =
N\ P AUk TR
1Q/A man goes 18cm due east and then. 24m due north Fll’ld the dnstance of his . '
rd 5 il Raren .
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If radii of two concentrlc CIrcIes are.4cm, and 5cm then find: the length
chord of one cncle which is a tangent Lo the circle. 3
1,2/ A kite is flying at a height of 75m above the ground. The string attached L
‘ the k|te is temporarily tired to a point on the ground The inclination of tha®
“string with the ground is 60°. Find the Iength of the strlng, assuming that
there is no slack in the string. .
© 1377 Find the angle of elevatlon of the top of a tower from a. pomt on the ground '
"wwWhich is 30m away from the foot of a tower of height, 10fm @
. 14. If the ratio of radii of two spheres (514757, find the ratio of their volumes

15. Find.the dlameter of a sphere whose surface area is/ 154m2 - ‘, »';,' 3
‘ lﬁr Construct a 3X3 matrlx whose elements are ajj = 2i- 3] ._""% (/ ﬁ
\-~‘ D =
III Answer any 4 questlon Questlon No 23 is' compulsory 4 X 5’/ 20
R . AN T e L R
17. Let e i 3 B— Ny ,'C—.~ Y show that (A B)C AC- BC. SR
- =) L TR R . i (ARYT = RT.AT 17 \ S
18. If 473 b2 g | 5 .¥1~ “verlfy that: (A\‘,B),‘ A e wad /, o

.19. The hypotenuse of a rlght trlangle is 6m more than twice of the shortest
side. If the: third snde IS 2m less than the hypotenuse ﬁnd the sides of the =
~ -triangle. ' . : PR ) \
20. Show thatin a trlangle the medlans are. concurrent
21. Froma point on the ground the angles of elevatlon of the bottom and top of
a tower fixed at the. top of a 30m helght building are 450 and 60° respectlvely -

, Find the height of the tower, (J— 1 732) o _
22. A solid iron cylinder has total surface area of 1848 .sq.Cm.: Its curved surface

~area‘is f|ve - sixth of |ts total surface area, Flnd the radlus and helght of the )
iron cyllnder & ' 8 "

| 23. The volume of a cone |s 1005/ cu cm. The area of its base |s 201/
sg.cm. Find the:slant helght of the cone. . o t

IV Answer all the questions. 2X5= 10 3
‘24, a) Draw a c;rcle of radius 4.5cm. Take a pornt on the circle. Draw the tangent

. atthat point using the alternate segment theorem. (OR)
' b) Take a point- wh|ch is 11cm away from the centre of a circle of radrus 4em
and draw the two tangents to the circle from that point. ‘3% ,
25. a) Discuss the nature of solutions of X*+x-12=0. (OR)
b) Discuss the nature of solutlon of. x2 4x+4=0. - sms 10 asmﬂg,w PAGE 28
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